LONG DIVISION: DIVIDING
2 AND 3 DIGIT BY 1 DIGIT
NUMBERS

The division algorithm is based
on the following Euclid lemma:

a,b,qreZ;b>0;0<r<b
Where: a= Dividend.
b=Divisor.
g=Quotient.

EXAMPLE: Perform the following operation:

r=Remainder.
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SOLUTION: ]_ 8 > Quotient
T|:=:>Divisor 8‘ <
CONCLUSION: =
VERIFICATION:
=3x18+0 ﬁ
OE>Remainder
EXAMPLE: Perform the following operation:
534+ 2= HTO
SOLUTION: 207 =>Quotient
2or 2
2 C>Divisor 4
1
CONCLUSION: -
—2 =267 12 .
VERIFICATION: _ 11‘=4
=2xX267+0
() =>Remainder




